Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Surveying
Subject Code : 2TEO3SURL1 Branch: Diploma (Civil)
Semester : 3 Date : 04/12/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) The curvature of the earth’s surface is taken into account only if the extent of (1)
survey is more than
(A) 80 sg km (B) 500 sq km (C) 250 sq km (D) 1500 sq km
b) A 30 m metric chain is found to be 0.1 m too short throughout the measurement. (@)
If the distance measured is covered as 300m, then find actual distance measured.
(A) 200 m (B) 299 m (C) 315 m (D) 280 m

c) Which of the following instruments can be used for the direct measurement of Q)
directions?
(A) Surveyor’s compass (B) Prismatic compass
(C) Any of the above (D) None of the above

d) Traversing is generally done by (1)

(A) Chain (B) Compass or theodolite (C) Plane table (D) All of the above

e) The method used to orient a plane table at A with reference to two inaccessible 1)
points A and B is

(A) Radiation (B) Intersection (C) Resection (D) Two point problem

f)  Inplane table survey the method used for locating the plane table station is 1)
(A) Radiation (B) Intersection (C) Radiation or Intersection (D) Traversing

g) A staff reading taken on a bench mark or change point Q)
(A) Back sight (B) Fore sight (C) Intermediate sight (D) None of the above

h) Animaginary line connecting the points of equal elevation on the ground surface 1)
is known as

(A)Contour line (B)Contour interval (C)Horizontal equivalent (D) Contour

S Page 1of6



gradient

i)  Theodolite is an instrument used for measuring (1)
(A) Horizontal (B) Vertical (C) Horizontal and vertical angles
j)  Error in sighting and reading is termed as Q)
(A) Natural error (B) Personal error (C) Instrumental error (D) Technical error
k) Planimeter is used for measuring (1)
(A) Volume (B) Area (C) Contour gradient (D) Slope angle
I)  When face of the vertical circle is to the left (while viewing through the eye piece Q)
of the telescope) and level tube attached to the telescope is up, then the telescope
will be said to be
(A) Transited (B) Inverted (C) Face right (D) Normal
m) A relatively fixed point of known elevation above datum is called Q)
(A) Datum point (B) Bench mark (C) Reduced level (D) Reference point
n) What is the whole circle bearing of a quadrant bearing N15°28" W 1)
(A) 195°28" (B) 164°32" (C) 344°32" (D) 344°28°
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
A State and explain fundamental principles of survey. @)
B Give comparison between surveyor’s compass and prismatic compass. @)
Q-3 Attempt all questions (14)
A The following consecutive reading were taken with dumpy level. (7)
3.325, 3.050, 2.755, 1.575, 0.625, 3.575, 2.875, 1.255, 1.785, 0.795, 0.780.
The level was shifted after the fifth and eight readings. The first reading was
taken on the bench mark of RL 245.755. Enter the reading in the level book and
calculate the reduced levels of all points apply usual check.
B Discuss the characteristics of contour with the help of neat sketch. @)
Q-4 Attempt all questions (14)
A Describe plane scale and draw a plane scale 1cm =2 m. 4)
B An area 58 cm? of a map represents an area of 4698m?* what is the R.F.? 3)
C The following bearings were taken in traverse survey conducted with a prismatic @)
compass at a place where local attraction was suspended.
Line AB BC CD DA
FB 44°30° 124°30 181°00° 289°30"
BB 226°30° 303°15 1°00 108°45
Calculate the interior angle of traverse.
Q-5 Attempt all questions (14)
A Describe the dumpy level with sketch showing all component parts and discuss @)
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Q-6

Q-7

Q-8

Q-1

@ >

w >

b)

its uses.

Explain the methods of plane tabling. @)
Attempt all questions (14)
Write a short note: equipment and accessories for plane tabling @)
Draw a neat sketch of transit theodolite and label all parts. @)
Attempt all questions (14)
The following offset were taken from the chain line to the compound wall at @)
respective chainages in meters. Calculate the area of the plot covered in between
chain line and compound wall by (1) Simpson rule and (2) Trapezoidal rule
Chainage(m) | 0.00 | 20.00 | 40.00 | 60.00 | 80.00 | 100.00 | 120.00
Offset(m) | 1.5 2.5 3.5 3.0 2.8 2.2 1.4
Explain gales traverse table. (7)
Attempt all questions (14)
Write a short note: Measurement of horizontal angle (Theodolite) @)
Calculate the area of the zero circle with the following data: @)
IR FR Position of Remarks
anchor point
7.340 | 1.820 Outside the The zero of the counting disc crossed the
figure fixed index mark once in the clockwise
direction
2.130 | 8.610 | Inside the figure | The zero of the counting disc crossed the
fixed index mark twice in the anticlockwise
direction
Assume that the tracing arm of the planimeter was so set that one revolution of
the measuring wheel measures 100 cm? on the paper.
Attempt the following questions: (14)
yoclloll AUdle] clatls HIA AR % RAlotHl Aot A B w2 Wwgllell (1)
Halel sdl ay sl
)80 ARA (3.3 (ell)500 W= (8.4 (2{l)250 A.(3. 1. (S1)1500 ol ($HL
30 el ARs aise Muni 0.1 Hle: wol &st dlalte] Hofl 2 B, % (1)
HIUCUHL A R 300 Hler? Beq wial A B, Al WAl dldAs
a2l
) 200 Hlez (ell) 299 Hle: () 315 Hlez: (S1) 280 Hlez
Raullott AL HU HERE oA RAcHI 52l Alotoll GUAL 53 astat (D)
8?
@) 2R astziat (oll) QxAlRs alstist
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d)

f)

9)

h)

)

K)

@) GURsct sl8url (S1) GURAsAHi 8\ el
2laRlol WHIeA A scuHl 2 B

@) Ael (ofl) sw wacl [@As\cuse (M) Qo 2ec (1) Gusc

cAHH

Aua B Hl A wop2l (g e A UR W@l SuEal (BaMLet $Rcll

Hzell ugldell GUaAdL sReuMi wWa 8

@) 2A3A2tet (oll) AidDE (M) BAset (S1) A (Glg AHRAL

ot 201et UTHL Wot 201t Rt Al HIZ duRldl ugld 8

@A) A3Aalet (oll) UictBe () A2t AUl WidDE (1) alaRlat
oA ML el secla (og uR Aol vuadl eLs

@) As e (oll) 92 wse (A) see2M3A2 w2 (S1) GUAsAHiel
Sl o8l

A AW UR AMlet GLRUSHL (Blgua Wlscl stculs il d313

AOLA B

@A) SlogR et (6ll) Slog? vidAA () 2§ UHsaL (S1) SlogR WA
(Q2ASlclge As Alklel & B HUCl MR duAA B

@) A () alsca @) 28l ua alfsc sl

Bl R clUHL G sSAUHL A B

() AARA ARR (o) Udatdt AR () BRgRRA AR (S) 2(setsct
R

WQWAHle? Hiual {2 duRla 8
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@A) M (oll) QR (Rll) slog? A (S1) AU Aol

2R aAllsA aduell AUBA SIA B (AR 2RI Uatl wiviell @ULdL glRL (1)
Bl slal) el (AUl BSIAA clRell 2ol GUR Sl B, U 2clslu

sdAML wLadl.

@) 2lleBes (oll) setacs () Fu HA (S1) UHLU

3euoll GuR Qllcdl AAAte] YHIRlA Rauct (olg sdeumi wa & 1)
@) 3ed Wee2 (oll) Ao Hd (Al) uetsl xR (81) el (g

As sclleee AR N15° 28'W tRtadl ull ada g 8 @

(A) 195 ° 28 '(0{l) 164 ° 32" (*ll) 344 ° 32(8l) 344 ° 28"

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

A
B

Attempt all questions (14)
Aualgl A Aot Yo Rsicdl umstdl. (7)
adeell Alstaa wal ABARs Alst2int aAel AuHell . (")
Attempt all questions (14)
ol Aol Acted iAot S1U| et WA AclHi AL &l @)

3.325, 3.050, 2.755, 1.575, 0.625, 3.575, 2.875, 1.255, 1.785, 0.795, 0.780.
UiRAHL ol A6 iUt Ul AR WASCUML W] &, YU ciUet

WRAA 245.755 ofl Ao HIE UR Acimi ALl ecdl. Aad ofsui ciuet
ELUA 5 ol oLl (Blgoll UldAl cdRe{l 1Ll $A WMo A

Aoy s2A.

yus Buell Heedl Hlogroll cllal@sdRil ur Al 53 (7)
Attempt all questions (14)
WQot Bclo] adlet 53 A W@t Bt 1 AL = 2 H{le: 3L (4)
atsalloll (Azctiz 58 A.H.? A 4698 {12 @Qrclire] UARAA<t 52 B 2R Ag. )
9 &2

ol Aotl wseR Ac 20 QrARs Alstaix A sl YcUH] AUACL ()

Yallgoll UTHL QAeltHl vl scll Ul USSRl UeS SAML

wlR &d.
<§ @ %%>

=
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Q-5

Q-6

Q-7

Q-8

Line AB BC CD DA
FB 44°30' 124°30' 181°00' 289°30'
BB 226°30' 303°15' 1°00' 108°45'
gladietl AldRs sl ot 52
Attempt all questions (14)
B WAl 51Ul Aacle] adlel 53, ottt des ol £20A B ual Aoll (7)
Guaole(l uAl 3.
WQlot 2ei(@d1efl ugld st (7)
Attempt all questions (14)
sl ollel AUl: Wt 200l M2 ALl Al AAUI (7)
AsHEL RSBl Yus B A el oltl el Aoldd 53, ()
Attempt all questions (14)
o{lAcfl 20152 Aisn cllwetel Hl2ul doilld Aot U 51UIB6s (7)
Raud Yl Qauni vuell sdl. (1) RQrudtet [ e (2) 2UASAH Ran
GlRL ABel Aol ol 5ULBeS Elalled cA a3l AcMl HAAL YAlRall
aate(l oLl 52
ota (m) | 0-00 [ 20.00 [ 40.00 [ 60.00 [ 80.00 [ 100.00 | 120.00
sz (m) | L5 | 25 35 3.0 2.8 2.2 14
At alad o AHdl ()
Attempt all questions (14)
&5 ol cll: (A% slal 1w usld (RS cuse) (7)
ol Aol 32t WA 9ot aAdnstt Aol 21l 53 )
IR Aos2 Weseoll ERERN
R
7.340 | 1.820 | ays(Qell wslz | aatctdlell Basotl 9ot ulaunedl
Rauni AsaR [ARd wagsHQsl Rax
WLod(l oL ®
2.130 | 8.610 | ag(Aoll 2ieR | olalddlell Basell goat A ARSAS
Rl A cutd [ABA AagsH@st
R&a 260 2120
WA 3 AllleRe] 2oL wd Aed A2 &d ¥ Huclloll Usoll As
yRaHel st uR 100 AHL 2 Hual.
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